

FACTOR RELATIONS BETWEEN SOME SUMMABILITY METHODS

MEHMET ALI SARIGÖL
 PAMUKKALE UNIVERSITY, DENIZLI, TURKEY

ABSTRACT. In the present paper, using the result of Bennett [1] on characterization of factorable matrices, we give necessary and sufficient conditions in order that $\Sigma\lambda_n x_n$ is summable $|R, p_n|_s$ whenever $\Sigma\mu_n x_n$ is summable $|C, 0|_k$, and $\Sigma\lambda_n x_n$ is summable $|C, 0|_s$ whenever $\Sigma\mu_n x_n$ is summable $|R, p_n|_r$, where $1 < k \leq s < \infty$. Therefore we also extend some known results.

1. INTRODUCTION

Consider an infinite series Σx_n with partial sum s_n , and by (σ_n^α) , we denote the n -th Cesàro means of order α with $\alpha > -1$ of the sequence (s_n) . The series Σx_n is said to be summable $|C, \alpha|_k, k \geq 1$, if $(n^{1-1/k}(\sigma_n^\alpha - \sigma_{n-1}^\alpha)) \in \ell_k$ (see [7]), where ℓ_k is the set of all sequences consisting k - absolutely convergent series. Note that the summability $|C, 0|_k$ reduces to $(n^{1-1/k}x_n) \in \ell_k$. Let (p_n) be a sequence of positive real numbers with $P_n = p_0 + p_1 + \dots + p_n \rightarrow \infty$ as $n \rightarrow \infty$. The sequence-to-sequence transformation

$$u_n = \frac{1}{P_n} \sum_{s=0}^n p_s s_n. \quad (1.1)$$

defines the sequence (u_n) of the (R, p_n) Riesz means of the sequence (s_n) , generated by the sequence of numbers (p_n) . The series Σx_n is said to be summable $|R, p_n|_k, k \geq 1$, if $(n^{1-1/k}(u_n - u_{n-1})) \in \ell_k$ (see [19]).

A summability method Y is said to include another summability method X , if every series summable by X is also summable by Y . If the methods include each other, then, these methods are called equivalent. Hereof, the inclusion relations of the absolute summability methods of single series were studied by various authors (see, for example, [2-24]).

The following result was established by Bor [2].

Theorem 1.1. Let $1 < k < \infty$ and

$$\sum_{n=v}^{\infty} \frac{n^{k-1} p_n^k}{P_n^k P_{n-1}} = O\left(\frac{v^{k-1} p_{v-1}^k}{P_{v-1}^k}\right). \quad (1.2)$$

2020 *Mathematics Subject Classification.* Primary: 40C05, 40D25, 40F05, 46B45 .

Key words and phrases. Infinite series, Riesz and Cesàro mean, summability factors, matrix transformations, bounded linear operator.

©2020 Proceedings of International Mathematical Sciences.

Submitted on October 28th, 2021. Published on December 30th, 2021.

Communicated by Ibrahim Canak, and Sefa Anil SEZER.

If exists $d > 1$ such that

$$\frac{P_{n+1}}{P_n} \geq d \text{ for all } n \geq 1, \quad (1.3)$$

then, the summability methods $|R, p_n|_k$ and $|C, 0|_k$ are equivalent.

Also, in [16], this result was extended as follows.

Theorem 1.2. Let $1 < k \leq s < \infty$. Then, the necessary and sufficient condition in order that the summability method $|R, p_n|_s$ includes the summability method $|C, 0|_k$ is

$$\left\{ \sum_{v=1}^m \frac{P_{v-1}^{k^*}}{v} \right\}^{1/k^*} \left\{ \sum_{n=m}^{\infty} \left(\frac{n^{1/s^*} p_n}{P_n P_{n-1}} \right)^s \right\}^{1/s} = O(1),$$

where k^* denotes the conjugate of the index $k > 1$, i.e., $1/k + 1/k^* = 1$.

Theorem 1.3. Let $1 < k \leq s < \infty$. Then, the necessary and sufficient condition in order that the summability method $|C, 0|_s$ includes the summability method $|R, p_n|_k$ is

$$\left\{ \sum_{v=m-1}^m \frac{1}{v} \left| \frac{P_{v-1} P_v}{p_v} \right|^{k^*} \right\}^{1/k^*} \left\{ \sum_{n=m}^{m+1} \frac{n^{s-1}}{P_n^s} \right\}^{1/s} = O(1).$$

2. THE MAIN RESULT

This paper gives necessary and sufficient conditions in order that $\Sigma \lambda_n x_n$ is summable $|C, 0|_s$ whenever $\Sigma \mu_n x_n$, is summable $|R, p_n|_k$, and also $\Sigma \lambda_n x_n$ is summable $|R, p_n|_s$ whenever $\Sigma \mu_n x_n$, is summable $|C, 0|_k$, where $1 < r \leq s < \infty$, which generalizes the above results.

A factorable matrix T is defined by

$$t_{nv} = \begin{cases} b_n a_v, & 0 \leq v \leq n, \\ 0, & v > n. \end{cases}$$

where (b_n) and (a_n) are sequences of real or complex numbers.

Now we prove the following theorems.

Theorem 2.1. Let $1 < k \leq s < \infty$ and $\lambda = (\lambda_n)$ be a sequence of numbers. Further, let $\mu = (\mu_n)$ be a sequence of non-zero numbers. Then, necessary and sufficient condition in order that $\Sigma \lambda_n x_n$ is summable $|R, p_n|_s$ whenever $\Sigma \mu_n x_n$ is summable $|C, 0|_k$ is

$$\left\{ \sum_{v=1}^m \frac{P_{v-1}^{k^*}}{v} \left| \frac{\lambda_v}{\mu_v} \right|^{k^*} \right\}^{1/k^*} \left\{ \sum_{n=m}^{\infty} \left(\frac{n^{1/s^*} p_n}{P_n P_{n-1}} \right)^s \right\}^{1/s} = O(1). \quad (2.1)$$

Theorem 2.2. Let $1 < k \leq s < \infty$, λ and μ be as in Theorem 2.1. Then, necessary and sufficient condition in order that $\Sigma \lambda_n x_n$ is summable $|C, 0|_s$ whenever $\Sigma \mu_n x_n$ is summable $|R, p_n|_k$ is

$$\left\{ \sum_{v=m-1}^m \frac{1}{v} \left(\frac{P_{v-1} P_v}{p_v} \right)^{k^*} \right\}^{1/k^*} \left\{ \sum_{n=m}^{m+1} \left| \frac{n^{1/s^*} \lambda_n}{P_n \mu_n} \right|^s \right\}^{1/s} = O(1). \quad (2.2)$$

It may be noticed that Theorem 2.1 and Theorem 2.2. are, in the special case $\mu_n = \lambda_n = 1$ for all $n \geq 0$, reduced to Theorem 1.2. and Theorem 1.3, respectively.

Also, if $p_n = 1$ for all $n \geq 0$, then the summability $|R, p_n|_k$ coincides with the summability $|C, 1|_k$. Further, $P_n = n + 1$ and

$$\sum_{n=m}^{\infty} \frac{p_n}{P_{n-1}P_n^s} = \sum_{n=m}^{\infty} \frac{1}{n(n+1)^s} = O\left(\frac{1}{m^s}\right).$$

Hence, the following results is immediately obtained.

Corollary 2.3. Let $1 < k \leq s < \infty$, λ and μ be as in Theorem 2.1. Then, necessary and sufficient condition in order that $\Sigma x_n \lambda_n$ is summable $|C, 1|_s$ whenever $\Sigma x_n \mu_n$ is summable $|C, 0|_k$ is

$$\sum_{v=1}^m v^{k^*-1} \left| \frac{\lambda_v}{\mu_v} \right|^{k^*} = O(m^{k^*}).$$

Corollary 2.4. Let $1 < k \leq s < \infty$, λ and μ be as in Theorem 2.1. Then, necessary and sufficient condition in order that $\Sigma x_n \lambda_n$ is summable $|C, 0|_s$ whenever $\Sigma x_n \mu_n$ is summable $|C, 1|_k$ is

$$\sum_{n=m}^{m+1} \frac{1}{P_n^s} \left| \frac{\lambda_n}{\mu_n} \right|^s = O(m^{1-2s-s/k}).$$

Proof of Theorem 2.1. We first note a result of Bennett [1] that a factorable matrix T defines a bounded linear operator $L_T : \ell_k \rightarrow \ell_s$ such that $L_T(x) = T(x)$ for all $x \in \ell_k$ if and only if

$$\left(\sum_{v=0}^m |a_v|^{k^*} \right)^{1/k^*} \left(\sum_{n=m}^{\infty} |b_n|^s \right)^{1/s} = O(1), \quad (2.3)$$

where k^* is the conjugate of indices k . Let σ_n^0 and u_n be Cesàro $(C, 0)$ and Riesz means (R, p_n) of the series $\Sigma \mu_n x_n$ and $\Sigma \lambda_n x_n$, respectively. Then, by (1.1),

$$\sigma_n^0 = \sum_{v=0}^n \mu_v x_v$$

$$u_n = \frac{1}{P_n} \sum_{v=0}^n p_v \sum_{r=0}^v \lambda_r x_r$$

and so $\Delta u_0 = \lambda_0 x_0$,

$$\Delta u_n = \frac{p_n}{P_n P_{n-1}} \sum_{v=1}^n P_{v-1} \lambda_v x_v, \text{ for } n \geq 1.$$

Now, say $t'_n = n^{1/s^*} \Delta u_n$ and $\sigma_n^{0'} = n^{1/k^*} \mu_n x_n$ for $n \geq 1$. Then, it easily seen that

$$t'_n = \frac{n^{1/s^*} p_n}{P_n P_{n-1}} \sum_{v=1}^n \frac{P_{v-1} \lambda_v}{v^{1/k^*} \mu_v} \sigma_v^{0'}$$

$$= \sum_{v=1}^{\infty} t_{nv} \sigma_v^{0'}$$

where the matrix $T = (t_{nv})$ is given by

$$t_{nv} = \begin{cases} \frac{n^{1/s^*} p_n P_{v-1} \lambda_v}{P_n P_{n-1} v^{1/k^*} \mu_v}, & 1 \leq v \leq n, \\ 0, & v > n. \end{cases}$$

This means that $\Sigma x_n \lambda_n$ is summable $|R, p_n|_s$ whenever $\Sigma x_n \mu_n$ is summable $|C, 0|_k$ if and only $(t'_n) \in \ell_s$ for all $(\sigma_n^{0'}) \in \ell_k$, or, $T : \ell_k \rightarrow \ell_s$ is a bounded linear operator. Thus, by applying (2.3) to the matrix T , we have (2.1).

Proof of Theorem 2.2. Let u_n and σ_n^0 be means of Riesz (R, p_n) and Cesàro $(C, 0)$ of the series $\Sigma \mu_n x_n$ and $\Sigma \lambda_n x_n$, respectively. Then, as above, $\Delta \sigma_n^0 = \lambda_n x_n$, and also $\Delta u_0 = \mu_0 x_0$,

$$\Delta u_n = \frac{p_n}{P_n P_{n-1}} \sum_{v=1}^n P_{v-1} \mu_v x_v, \text{ for } n \geq 1 \tag{2.4}$$

By inversion of (2.4), it can be stated that, for $n \geq 1$,

$$x_n = \frac{1}{\mu_n P_{n-1}} \left(\frac{P_{n-1} P_n}{p_n} \Delta u_n - \frac{P_{n-1} P_{n-2}}{p_{n-1}} \Delta u_{n-1} \right)$$

Say $t'_n = n^{1/k^*} \Delta u_n$ and $\sigma_n^{0'} = n^{1/s^*} \lambda_n x_n$ for $n \geq 1$. Then, it can be written that

$$\begin{aligned} \sigma_n^{0'} &= \frac{n^{1/s^*} \lambda_n}{\mu_n P_{n-1}} \left(\frac{P_{n-1} P_n t'_n}{n^{1/k^*} p_n} - \frac{P_{n-1} P_{n-2} t'_{n-1}}{(n-1)^{1/k^*} p_{n-1}} \right) \\ &= \sum_{v=1}^{\infty} d_{nv} t'_v \end{aligned}$$

where the matrix $D = (d_{nv})$ is defined by

$$d_{nv} = \begin{cases} \frac{n^{1/s^*} \lambda_n}{\mu_n P_{n-1}} \left(-\frac{P_{n-1} P_{n-2}}{(n-1)^{1/k^*} p_{n-1}} \right), & v = n-1 \\ \frac{n^{1/s^*} \lambda_n}{\mu_n P_{n-1}} \left(\frac{P_{n-1} P_n}{n^{1/k^*} p_n} \right), & v = n \\ 0, & v > n. \end{cases}$$

This gives that $\Sigma x_n \lambda_n$ is summable $|C, 0|_s$ whenever $\Sigma x_n \mu_n$ is summable $|R, p_n|_k$ if and only if $(\sigma_n^{0'}) \in \ell_s$ for all $(t'_n) \in \ell_k$, or, $D : \ell_k \rightarrow \ell_s$ is a bounded linear operator. Thus, by applying (2.3) to the matrix D , we get (2.2).

This completes the proof.

REFERENCES

- [1] G. Bennett, Some elementary inequalities, Quart. J. Math. Oxford 38 (1987) 401-425.
- [2] H. Bor, A new result on the high indices theorem, Analysis 29 (2009) 403-405.
- [3] H. Bor, On two summability methods, Math. Proc. Camb. Philos. Soc. 97 (1985) 147-149.
- [4] H. Bor, A note on $|\bar{N}, p_n|_k$ summability factors of infinite series, Indian J. Pure Appl. Math. 18 (1987) 330-336.
- [5] H. Bor, Factors for absolute weighted arithmetic mean summability of infinite series, Int. J. Anal. Appl. 14 (2017) 175-179.
- [6] L.S. Bosanquet, G. Das, Absolute summability factors for Nörlund means, Proc. London Math. Soc. 38 (1979) 1-52.
- [7] T.M. Flett, On an extension of absolute summability and some theorems of Littlewood and Paley, Proc. London Math. Soc. 7 (1957) 113-141.
- [8] F. Gökçe, M.A. Sarıgöl, Generalization of the Absolute Cesàro Space and Some Matrix Transformations, Numer. Funct. Anal. Optim. 40 (2019) 1039-1052.
- [9] F. Gökçe, M.A. Sarıgöl, Extension of Maddox's space $l(\mu)$ with Nörlund means, Asian Eur. J Math. 12 (2019) 1-12.

- [10] G.C. Hazar, M.A. Sarigöl, On factor relations between weighted and Nörlund means, Tamkang J. Math. 50 (2019) 61-69.
- [11] S.M. Mazhar, On the absolute summability factors of infinite series, Tohoku Math. J. 23 (1971) 433-451.
- [12] M.R. Mehdi, Summability factors for generalized absolute summability I, Proc. London Math. Soc. 10 (1960) 180-199.
- [13] R.N. Mohapatra, On absolute Riesz summability factors, J. Indian Math. Soc. 32 (1968) 113-129.
- [14] C. Orhan, M.A. Sarigöl, On absolute weighted mean summability, Rocky Mount. J. Math. 23 (1993) 1091-1097.
- [15] M.A. Sarigöl, Extension of Mazhar's theorem on summability factors, Kuwait J. Sci. 42 (2015) 28-35
- [16] M.A. Sarigöl, Characterization of summability methods with high indices, Slovaca Math. 63 (2013) 1053-1058.
- [17] M.A. Sarigöl, On local property of summability of factored Fourier series, J. Math. Anal. Appl. 188 (1994) 118-127.
- [18] M.A. Sarigöl, A note on summability, Studia Sci. Math. Hungarica 28 (1993) 395-400.
- [19] M.A. Sarigöl, On two absolute Riesz summability factors of infinite series, Proc. Amer. Math. Soc. 118 (1993) 485-488.
- [20] M.A. Sarigöl, On absolute normal matrix summability methods, Glasnik Math. 28 (1993) 53-60.
- [21] M.A. Sarigöl, On absolute weighted mean summability methods, Proc. Amer. Math. Soc. 115 (1992) 157-160.
- [22] M.A. Sarigöl, and Bor, H., Characterization of absolute summability factors, J. Math. Anal. Appl. 195 (1995) 537-545.
- [23] M.A. Sarigöl, On $|T|_k$ summability and absolute summability, Slovaca Math. 42 (1992) 325-329.
- [24] W.T. Sulaiman, On some absolute summability factors of Infinite Series, Gen. Math. Notes 2 (2011) 7-11.

MEHMET ALI SARIGÖL, PAMUKKALE UNIVERSITY, DEPARTMENT OF MATHEMATICS, DENIZLI
20160 TURKEY

Email address: msarigol@pau.edu.tr